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o Increment Value or Tax Increment Revenue New Base Value
&5 ; e Growth in the value of the property Value of the property
| - due to urban renewal activities. after the urban renewal
- &$ Tax revenue goes to urban renewal agency activities are complete.
6 for project costs. Tax revenue goes to all
9 taxing districts.

Base Value
Value of property within the

revenue allocation district when the district is
authorized by the City Council and State of Idaho.
9 Tax revenue goes to all applicable taxing districts.

Lifespan of District, up to 20 Years

Years
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